CENTRAL LIBRARY N.C.COLLEGE

Total number of pages — 8

33T ECON
(BENGALI)

2023
ECONOMICS

Full Marks : 80

Pass Marks : 24

Time : Three hours

The figures in the margin indicate full marks
for the questions.

PART-A (3 -9¢)

Q. No. 1 (i-wvi) carries 1 mark each 1x6 = 6
Q. Nos. 2 (i-vi) carries 2 marks each 2x6 =12
Q. Nos. 3 -6 carry 4 marks each 4x4 = 16
Q. No. 7 carries 6 marks SRl =G
" Total = 40

PART-B (¥ -=12)

Q. No. 8 (i-vi) carries 1 mark each 1x6= 6
Q. Nos. 9 (i-wvi) carries 2 marks each - 2x6 = 12
Q. Nos. 10 ~ 13 carry 4 marks each 4x4 =16
Q. No. 14 carries 6 marks 6x1 = 6_'

Total = 40
Total (PART A & B): 40 +40=80

Contd.



CENTRAL LIBRARY N.C.COLLEGE

PART-A /S-S

i 6=6
1. Answer the following : 1%
fsfeie enefem T nie 3

(i)

(i1)

(iii)

(iv)

(v)

(vi)

Define personal disposable income.
S SEIRGIRIACIEE NN | ‘
What is the primary objective of commercial bank ?
qiffErs e didfiE oy €7
Net indirect taxes are estimated as —
6 (Net) AT 9 261 —
(a) Indirect taxes + Subsidies
ACEF T + A=A

‘ (b) Subsidies - Indirect taxes

HZ - AT <4

(c} Indirect taxes — Subsidies
LT T - AR/

(d) Both (b) and (c)
(b) =% (c) TeT2

(Choose the correct option)
(&% [F5] RIBIFT PCl)
Give two examples of capital expenditure of the government budget.

FRRRT. ACSCHA o] DR 7o TniRae WS |

What type of budget should the government prepare during inflation ?
IR A TR & 4HCs 0T UE9 FACO el 2

In order to encourage investment in the economy, the central bank will
adopt which of the following measures i

SelRers Bl TerifEs ik Ey (PR % MRS (i AMCsesi G-
AT ?
(1) Increase cash reserve ratio
ol AR TS i FHE
(h) Reduce cash reserve ratio
ol LRSI SIS Z FAC
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(¢) Increase bank rate

(d) None of the above
CHEE GHDE T
(Choose the correct option)
(&% 9% {617 )
2. Answer the following : 2x6=12
MRS eolm Tea e ¢
(®)

(ii)

33T ECON (BENG) [

A firm produces goods of Rs.500 per year and uses intermediate goods
of worth Rs.250. The cost of depreciation is Rs.20 per year. Calculate
gross value addition and net value addition by the firm.

G={b 2SRl TN 500 Bi<eR TRY TAM <SR G318 < S 250 Biel e
IR T <RI |0 N AT SR A 20 5161 2, ieret Afe9imiea
GG 3=y FRCAG IR G 6T FLCANSH 519! S |

OR /18]

What do you understand by the problem of double counting in the
context of national income accounting ?

@T@awmﬂmmmﬁwwwﬁ QR 2

Calculate national income with the foHowing data :
xR S AL SIS Sy st St o

GDP at market price : Rs.830 crore

Q% wed GDP : Rs.830 i

Depreciation : Rs:120 crore
SR ¢ Rs.120 (i

Net indirect taxes : Rs.70 crore

16 {3l 99 ¢ Rs.70 &6

Net factor income from abroad : Rs.40 crore

Rl (A 6 T2 T ¢ Rs.40 GG
OR /%2

Differentiate between nominal GDP and real GDP.
G GDP @R AFS GDP -3 Al @il |

W
et
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(111)  Write two objectives of government budget.
AT A0 775 Goaly el | _
(iv) Write fwo differences between revenue expenditure and capital
expenditure. _
NS <R AR JETLT] O 717 AL A |
OR /@231
What is revenue receipt ? How it is different from capital receipt ?
e 2 2 Gff er 2 (AT oI 722
(v)  What is deficit demand ? Write one cause of deficit demand.
951 pifan e ag 36 FRE S T |
OR /%241
What are the factors that affect investment demand in an economy ?
S R i deiie = Siaesf i@ 2
(vi) Write two merits of fixed exchange rate.
T2 R 2w 76 7R Eiedl
OR /%21
.Define spot and forward exchange rate.

R sl 2g |9 Sas ! G AR CEe |

Explain the expenditure method of calculating national income. 4
SIS S sielei 31 Aaiers <pr Sl |
OR/®I31
Discuss the circular flow of national income in a two sector economy.
e w210 Sty St pErae 2-IR ST Pl |
4

Discuss the functions of money.

STl BT SN T |

There is a plan to increase national income from I_{S.}ISOO crore to Rs,4_000
crore. If MPC = 0.6, then what should be the change in investment to achieve

4
the goal ?
@35 Selifon wieT o Rs.1500 RIS Bel (A Rs.4000 (b Do gfa

el =1 sres| I MPC = 0.6 o7, O[aCE 3 T GRS 28R G FO
wifaariel T RFCAICoR SlCare A7 |
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OR /972
What is marginal propensity to consume (MPC) and marginal propensity to
save (MPS) ? Show that MPC+MPS =1 - k=

I Tefrelsl e=eel (MPC) <R @i 7%y 27l (MPS) 52 (8
MPC+MPS=1 |

Outline how equilibrium exchange rate is determined in free market systexrzj.c

G A JIZR ORPARY [ 29 [Neffae afeaife sicesst @l |
OR/&23)

Write a note on ‘balance of payment’.

‘sifFeeicam Fwer=s [ 9% B @

Discuss the working of investment multiplier with example. 6
CnIRgePR R wer S efemai e T |
OR/<1%41

Explain diagrammatically how equilibrium level of employment and income
is determined in a two sector economy with the concept of aggregate demand

and aggregate supply. i
faxe S<fifers Al Bifenl Y3 R @isie =6k AL eI SR S
G [Seanai g1 Redffae <91 2w sz <@ '

PART-B / 4-9ig

Answer the following : 1x6=6
SRR el Ted e 8
()  Whatis poverty line ? .
vifdg s 2
(i) Name any two Navaratna industries.
(3 CICA) 70 AR SUDICAN 1) Gl |
(1ii) Who is known as the architect of economic planning in India ?
SIS WA AR fsfet 96 6 siFbe :
(iv)  What do you understand by jobless growth ?
amiRes Smm so1ce & @R

() Name two unconventional sources of energy.
“If&q 7o SRS TR AN Gl |
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(vi) Which of the following is a cause of ozone layer depletion ?
RCHIE (D S T FE G0 R
(1) Noise pollution / >3 A4
(b)  Air pollution / R &7
(c) Water pollution / & e

(d) None of the above / CAES GF0S T |
_ (Choose the correct option)

(% [Feo [z 8)

Answer the following : 2x6=12

e exielam Sed ne 8
(i)  Write two objectives b :
British government during Colonial rule.

Sy Al | .

(i) Write two objectives of NITI Aayog.

NITI STcaiesd 7o Boms 1eal |
OR /%1941

Wrrite two factors that necessitates the introduction of economic reform

ehind infrastructure development in India by the

in India.

Sl SR A ARG 710 B e |
(iii) Correctly match the two sides of the following table :

e Sl 1o o sweld FEe 8
Rank Based on Human Development Index 2022

Country & )
¥ 2022 AETF A G THRIRCFA [elee Fie
India/©ie 79

, China/5H 129
Pakistan /g 132
Bangladesh /A& 161

(iv) Write the full from of AYUSH.
AYUSH -€3 5= sl (el |
OR /<139l
What do you understand by medical tourism ?
Tofpert A< Feree ¢ @2 -
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10.

(v)  Write one positive and one negative impact of globalisation in the Indian
economy.
CICoe IS0 RERER G5 ISR G9R. G9775 S S @l |

(v1) Write two differences between formal and informal sources of rural
credit.

AP mt@amﬁﬁﬁ%mamﬁhﬁa@m 715 AT T |

- Write the features of the Industrial Policy, 1956. 4

1956 JBICH ST I ([RBFER e |

OR /S2{1
Briefly discuss the problems faced by the Indian agriculture sector in
pre-reform period.

SAFIREN P S0 PR W0 TYI 2SN APURTIR AL SN 151 56 |

11.  Discuss four important causes of poverty in India. 4
SRS MIRTSR 51770 24 T ST S |
12. Write a note on condition of health infrastructure in India. 4
IS FF SR SRZE [ G0 GR @ed |
OR /&<l
What is workforce ? Write the causes of low workforce participation rate of
female as compared to male. ’ - 1+3=4
W%?Wwwmﬁwwwquaﬁgmmwwm |
13.  Write a comparative note on the contribution of agriculture, industry and
service sectors to the respective economies of India, China and Pakistan. 4
IO, b G=R AAlfFEi SLTifore omieE IR, Swie @t Gri wed e wieE
G TS Il g ! | :
OR /<%
Briefly describe the path of economic development of China.
DIt ST SHAGR “Afersia REed sieee 361 e |
14. How is human development a broader term as compared to human capital ?
What are the main problems of human capital formation in India ? 3+3=6
T YT eI N GHACTA Qe (o T2 e &= 22 2 S0 Nofq e
TOTR el PTG & e .
OR /<341
Discuss how agricultural activities can be diversified. 6
IR e o/ @baed s @e =it SiEin= @t |
X
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